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Answer the following questions: ALY ALY ce qal
1. Choose to answer (a) or (b): ()9 () es 4y a1
Write the scientific term for one of the Ol aaY (alall lhuaal) G|
following statements: : oY)
(a)Sequence of nucleotides on DNA o gl ull s ()
connected to it the RNA polymerase 8l a 33 40 Jasi » DNA
enzyme in transcription of m- RNA. . M- RNA Zui 2ie RNA
(b) A method used to isolate pieces of ekl Joal pasind Alee Ay (@)
DNA (genes) that are formed by & Gl (DLl ) DNA
duplicating a copy of it using Ads dde Liaa 31k e eSS
plasmids. Clase L aladinl L
2. Choose to answer (a) or (b): ()9 (1) B850
Give reason for one of the following 20 ) gaay Jle
statements: Al &l e il 3,08 a3 (1)
(@) The ability for adaptation with the QENSER e L]
environment decreases in the PLIBTEN ST L INEN T ()
organisms that reproduce asexually. Sl) Calise
(b) Bread mould fungus is found in
various habitats.

.....................................................................................................................

.....................................................................................................................
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3. Choose to answer (a) or (b): (@) 5 (1) s Ay il -3
(a) Mention the role of the transverse o A il J“*\{J\% O
links in the muscle fiber. S 4
(b)Mention the role of cholinesterase Sl Gl Nx J—m &
enzyme in the muscle fiber. = =

4. What would happen in case of: the sl sla e 4 i) z_u\-ul\ L -4
absence of flower petals in a Gl A (D)) gl Bl (e
dicotyledonous plant? Sl 5

5. Compare the role of m-RNA and t-RNA s e JSAnh; 0 )8 -5
in protein synthesis. < LRNA ¢ > m.RNA

Ol (laS dnlee
The role of m-RNA The role of t-RNA
M.RNA ¢ 4dlig t.RNA s> 4uliy
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6.

7.

Choose the correct answer:

The helper T-lymphocytes (TH)
recognize the antigen through
......... bound with it on the surface

of macrophages.

e Memory cells

o Major histocompatibility complex

(MHC) protein.

0 The cell Nucleus.

Antibody

rAasaall LlaY) i -6
8ac Lsall 208l UWDIA (o jats
PAA e it e Ty
chan Ao asa il
5 dpan i) 141

5 SIAI LA °
Y Ne
aalsd) 3) ¢

) anall

Illustrate with a labeled diagram the
structure of the bony vertebra.

EAal) LS el g -7
dgalanl) 5 84N S 3

Compare between: Natural killer cells

(NK) and B- lymphocytes in terms of
their function and the percentage of each
of them in the lymphocytes.

Agaplal) AL LAY 3 o & 8 -8

B sl 4y slaadll LAY ¢ NK

Logia JS A g Adpla ol Cus (e
RREPLTPOLIREL BN gt

B- Lymphocytes
B bl 4y slaadl) LAY

natural killer cells (NK)
NK Aaadal) 560 LA
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9.  Explain the following statement: -4l 8 jlal) i 9
Parthenogenesis in honey bee differ from & oSl all il o gaa (i
that of aphid insect. Ol 8k i Jadll s i

10. Choose to answer (A) or (B): ( () 9 () s Ay A -10

(a)What happens when: - The hyper gL @\“ _“*‘J""“.‘E‘i‘\-‘j"h‘-‘j 0
secretion of growth hormone for a e b sl O5e 0 318 8 5

Qgﬂ 90 Q
colleague as old as you. ) Lo <
(b) What happens when: - Occurrence | — iufs &l gbdile ()

of imbalance in the sex hormones “J:fjé‘u“w\"j: < ‘L\
secreted from the adrenal cortex and A _U,’“j S
from gonads. Fubiall a5 a5 S0
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11. Choose the correct answer: rdaauall oY) Ad) -1
In the DNA molecule, nitrogenous L 5« DNA s>
b'ases are linked to the deoxyribose s i 5 gl s | il
ribose sugar by ....................
bonds | .. L) 5 0 Hsm Sl
FEHE PRI °

e Hydrogen ORI e

o Covalent i

e lonic iyl

o Polar

12.  What happens in case of the continuous o=l Al B dasy i 12
decrease of ATP molecules in a fatigued dlaxll 4 ATP Gl ol el
muscle? o3¢l

13. Explain the following: Ol (g s Lile b -3
The two ovaries stop ovulation during the Saall 3 53 A Gy sl (e

period of pregnancy.
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14. Explain how amino acids combine with calaal badi i A ray  -14
each other during translation process Aax i) Agles oL Lgudanyy Aisal)
to form a polypeptide chain, and Sl cadd) e b (4 oS3
mention the site its occurrence. Al Sgaa (ke

15. What are the factors that lead to Cga Al g5 Al Jalgdl e 15
occurrence of cross pollination in T4 A S0 bl & alid) it

flowering plants?

16. Choose to answer (A) or (B): (@) (V) os A A -16
aa) ddds g 51 8) (lSa Y

Mention the site of secretion and the o) e
function of one hormone: e oA
— - S g U gaa ()
(a) Cholecystokinin hormone LS ¢ o
_ OmS3ll Gsea (@)
(b) Relaxin hormone
...................................... hormone
................................... U R
Site of secretion Function
SIAY) s Al )
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17. In an experiment to examine the Laldll il gaa) b -17
process of protein synthesis in an A3 B g pll oy Ailes (yandy
animal cell. During the transcription of | M.RNAs s Gl e 44 g
m-RNA from a DNA strand, it is found 18 ¢ 329« DNA hijyd ¢
that this molecule composed of the 1Y) RN e (98 £ s )
following sequence:

5\ ... AUGACGACUAGGAGAUGA ... 3' A AAAAAAA...
— l‘_‘(_) -__h_v_‘,
1 2 3

First: Label numbers 1 and 2. 251 A i) cisi Yl
Second: What is the function of sequence £3 8 ) ddda s Lo 1Ll
number 3? el alea¥) axe oS UG

Third: How many amino acids resulted from 128 dea i (e Aadlill

the translation of this strand? hay

18. Study the figure then ol a8 JRAN gy -18
answer: e il g g5 La ¥l
First: What is the type of (1) pd Al mlans

receptor on the cell ad ) Al A Le L3l
number (1)? (2) 2
Second: Mention the name of RPENEN(PP R Ak
cell number (2)? adall i (1)
Third: How does the cell f(2) &)
number (1) activate the 1) Ladie duasg 13 :lagl
cell number (2)? £(2) b, WO Lais
Fourth: What happens when
cell number (2) is activated?
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19. Choose to answer (A) or (B):
Write the scientific term:

(a) Unspecialized defense mechanism in
the injured area as a result of the tissue
damage caused by injury or infection.

(b) Small lymphoid nodes that are grouped
as masses or aggregations spread in the
mucous membrane lining the lower part
of the small intestine.

(@) () e Ay sal -19

d oA alal) pllaaal) S|

10y i lad) aa Ade

s paadi ye ol Jelss (1)
Al Gali dagm Al sy
sl Al e il

A sl LAY (e 3 s dic (@)
O sl g all lasall L)
ALl o lagY!

20. Choose to answer (A) or (B):

(a) Define: Antibodies.
(b) Mention the function of plant
receptors.

(@) S () s Ay il 220
Balaall sbuall s o e ("
Pailall caSlstual) daka (@)

21. Choose to answer (A) or (B):

Give reason for one statement:

(a) When nerve impulses reach the
surface of the membrane of muscle
fiber, the potential difference on it
disappears.

(b) Calcium ions play an important role
in muscular contraction.

t () () e Ay Al 21
: R o ) aY e
o Lsmall Ji ) J gom sic ()
iy cigbmal) Al L2 el
anlll elie o aeadl (34
LAl
pen 33 papall Sl il i ()
bl alay) b
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22. Choose the correct answer: rdaaall oY) Ad) 22
Molecules of Major (380 51 (i gy il aa g8
histocompatibility complex L F .

LAl )
protein (MHC) are foundin... | ™7 P & MHC 2
30 g3} Bam g 5 51 gt TN a
e Multi- nucleated and monocytes. saclusall T 5 4 y20) e
0 Plasma and helper T- cells (Tw) sacbudl Ty 5 3)5ill 3a
e Monocytes and helper T- cells B 4uslialll g drealdl
o Phagocytes and B lymphocytes.

23. What would happen when: Ofaeld bl e Giaag il 23
Two adjacent nitrogenous bases on the At g ill 2o 8l e () slaia
same strand of DNA are damage? DNA ol byl pats e

24. What happen in case of the absence of pi Sl de Gaag il 24
reverse transcriptase enzyme from some s gyl Gany (o (uiSal) Gl
viruses with RNA genome? ¢ RNA Gl s sisall @l
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25. Choose to answer (A) or (B):

(a)Mention the site and function of: Stigma.

9 () cs Ay sdl 25
HC))]

anzall Al g 9 ()lSa 22a ()

(b) Mention the site and function of: Tiuk 2 R
Antheridium. 2859 0SS ()
- by iy
Site Sl Function Adhs Sl

26. Compare between: Insulin and

Adrenaline in terms of their function.

SO i) O 08 =26
Al gl i o clliy Y1

Function of Adrenaline
Gl oY) Add

Function of Insulin
Ol geady) Adili g

27. Examine the opposite figure, and then
explain the components of the part (X) in

the figure.

C_.'Ajes‘d,t&d\ JEN Guyd 227

JSall

10



2018 /2017 (ol Al alad) — 43 50aiW0 elaly) — dalad) 4 il Al Al alall 33lgud Gladial g3 gad

28. Choose to answer (A) or (B):
Write the scientific term :

(a) A type of connective tissues
consisting of cartilaginous cells, often
found at the tips of bones and joints.

(b) Movement occurs inside each cell and
of the living organism for the
continuity its vital activities.

t () S() ¢e Ay il 28
. alal) rlhiaal) S
woéﬁhu\wm o g5 ()
vie Llle aa g 48 5 et LA
. Jealial) die g alaall Cal k]
e i JS JAla dantds A (@)
kil ) el alli gl L
A gl

29. Choose the correct answer:
If the number of purines
nucleotides in a DNA molecule
equals 180 nucleotides, the
number of turns in this molecule

o 18 turns
o 27 turns
o 36 turns

daaal) oY) adl 29
il ) gal) st €l aae (1S 1)
180 s DNA s A
1A Gl dae 8 ¢ B galS gul

30. What is the scientific principle of tissue
culture?

o) alad) i e 230
fdawi) de) ) aule

11
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31. What would happen in case of: Gilag i) Gl ¢ aie sy il -31
i alat dacaadl LAY
Absence of helicase enzyme from the dill 4pacalt LY “‘:f""?m
somatic cells of a young child? P
32. Choose the correct answer: rdasall Alay) 51 32
The first meiosis in somniferous Js¥) s el sl oo il
tubules results in the formation | ... O5S Ag plall il B

s Ol s 5 Aol 4 g A a
e Primary spermatocyte and a sperm oy s 510 P 3 B LT e

Secondary spermatocyte and X v wme . .
o ysp y G Ol s g A 98U Ay gie AlA

spermatids B e

P Ol 30 Ol s LA

e Secondary spermatocyte and a sperm
o Two secondary spermatocytes

33. Write the scientific term : . il plbadl) S| 33
A gland in the body that secrets a hormone | ) Ceosl 85,8l pndl mufh‘
which has an immunity function. L eERe s

12
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34. Compare between the acrosome and il g a8l anial) Gy 0 8 34
corpus luteum (the yellow body) in L ALB gl G (e i)
terms of: function.

Function of Corpus luteum Function of Acrosome
Sl acall Al A8l aeal) Al g

35. Illustrate with a fully labeled drawing albad) JalS an b g -35
the stages of formation of the pollen grain e & Al s (0 oS5 Ja) e
in the flower anther. a3

13
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36. Choose to answer (A) or (B):

Compare between one pair:

(@) Interferons and Lymphokines in terms of
secreting cells and function.

(b) Tyloses and Cerumen in terms of
location and function.

(2) 3 () os ALY A -36

sl Laa Cpa g3l aaf cp ¢y )8
slig gyl ()
Cua e S saalll
Adgla ol 555 jdall LA
Ge D haall g 3l ()
Adl gl g Sl Eus

37. Choose to answer (A) or (B):

(a) Give reason: We can differentiate
between the two nuclei found inside the
pollen grain while it is on the stigma.

(b)Give reason: Bean seeds are considered
as exendoplasmic seeds.

(2) 9 () os Ay g -37

Ol O Dealll (K J& ()

Cﬁﬂ\ s JAla Q:fjd‘,_;yd\
'?u...\.d\ u&: \AJ);} c\..u\

Y Al i s el e ()

REEVTPLY|

14
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38. Choose the correct answer: rdasall Alay) 5d) -38
When T cells are activated, D08 LGl (T LAl Lk Lavie
they secrete................. to Aanlll WO Japiidl
stimulate macrophages , B- Ao liall (A Aabuall 4l 5 4500 5

) ¥
lymphocytes and cytotoxic T- REPIEY

cells in cellular immunity.

e Cytokines UMSM\ 0
0 Histamines %w‘ Q

e Lymphokines

R A
o Perforin o s
39. What happens when there is no group of dga g ple AiS ditay il -39
modified enzymes in one of the bacterial S sinall 8 Aama Doy Yl Ao gana
strains that produce restriction enzymes? ) LSl SV saay Al

€ pomill iy 3 Uiy o g

---------------------------------------------------------------------------------------------------------------------

40. What is the role of hybridized DNA in 3 4 el DNA D52 le - -40
determining the evolutionary relationship 1 ¥ Ay ) glail) A8
between different living organisms? faaia )

15
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41. Write the scientific term : . bl plhaal) cisi 41
A structure found inside the flower ovary ) °J:’jLUf “,,dfbfﬁ S
that contains the egg, synergy cells, S f‘”‘j,\ "J“ ‘S:"
antipodal cells and two polar nuclei. Okl O gl Stagll O
42. Give reason for: Man is infected with Ol lhay Vs Sh Wl Jle 42
measles only once in his lifetime. . oeall 83aa) 58 je V) Auaally
43. Choose to answer (A) or (B): () 3 () s Ay Adi 43
Compare between one pair: 1 b Laa a3 aa o o 8
(a) DNA in prokaryotes and DNA in @l gl ADNA ()
Eukaryotes concerning their duplication. e 85l Shiés 3 DNA
(b)Histone protein and non-histone protein Laga 38 Caeliai G
concerning their definition A slugdl Gliig pll (@)
A slagll e S5l
)l dus (g

16
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44. 1llustrate with a fully labeled drawing dal s clibadl g amn flo g -44
the stages of germination of the e g ) a8 by
zygospore in Spirogyra. oot

45. The following sequence of nucleotides af o g A Al Sy 45
represents a part of DNA strand. DNA 4k <)

5..AATGCAGAATTCACA.3\
First: Write down the sequence of Aall JeSall il il Yl
nucleotides on the complementary L AT LAl e A sl
strand of this part. S g2 el a3 aadind Ll

Second: Use the restriction enzyme that F(GA) Gl adse e
e g o5 Al el Alalae
ATl Zigall S 5
lelaall o2 aas

| affects on the recognition site
(G'A) on treating this previous sample,
then show by drawing the structure of the
resultant segment.

END OF MODEL
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